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Question Number : 1 Question Id : 9561771036 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let S={z e C: |z=1|=1 and (\@ b 1](2 + E] o i(z = E] = Z\EI. Let 2, 2, € § be such that

. )
4 “ equals:

= max |7 and [z,|= min |7, Then |y2 7~z
AR ZES #

Options :
9561772011, ©
2
9561772012. =~
3
9561772013.

9561772014, 4
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Mandatory
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20

80

Yes

0

1
95617765
Yes

null



Question Number : 1 Question Id : 9561771036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A1 S={ze C: |z=1|=179 (\ﬁ o 1](z+ :] - :'(z- E]= 2ﬁ|%| Al 2y, 2, € § F fau
4 B1 A N2 22, TR

17| = max || 791 |z,|= min
: ZES T RS
Options :

9561772011.

-2

9561772012.

9561772013.

9561772014, 4

Question Number : 2 Question Id : 9561771037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Let S={xeR: (|3 + ) + (43 - \/E]"ﬁl[]}. Then the number of elements n S is :

Options :

9561772015. 0

9561772016, 1



9561772017. -

9561772018, 4

Question Number : 2 Question Id : 9561771037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T S={xreR: (B +2)' + ({3 - J2) =10} | T S H Ferell i Hem e

Options :

9561772015. 0

9561772016.

I~

9561772017.

9561772018.

Question Number : 3 Question Id : 9561771038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 1o
= &f ’ 1 1

Options :

If A C=ABAT and X=ATC2A, then det X is equal to :




3
=1

9561772019.

-
9561772020. 729

9561772021, 591

9561772022.

Question Number : 3 Question Id : 9561771038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3 g 10 _ _

g A= ,B=[ ],C=ABATHM=ATCZA%‘,H“|.;1MW%:
-142) 11

Options :

9561772019, 2/

9561772020, /22

9561772021, 091

9561772022, 243

Question Number : 4 Question Id : 9561771039 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If nis the number of ways five different employees can sit into four indistinguishable offices where
any office may have any number of persons including zero, then n is equal to :

Options :

9561772023.

9561772024.

9561772025.

9561772026.

Question Number : 4 Question Id : 9561771039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g v Faraieal &, T s e & oam o Fl, Fater ot of mafers o 9 wfew fore of
FHAN] o3 T ©, I W ¢

Options :
9561772023, ° L

9561772024. 47



9561772025, 2

9561772026, 43

Question Number : 5 Question Id : 9561771040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the system of equations

2.x~'r3y—z=:-

has infinitely many solutions, then 13 «f is equal to

Options :

9561772027, 1210

9561772028, L1120

iy iy
9561772029, 1220

9561772030, L 110

Question Number : 5 Question Id : 9561771040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Afg g fepra

2x+3y—z=5
x+oy+3z=—4
3x—y+Bz=7

% 3Hd B &, 1 13 of TEL T :

Options:

9561772027, 1210

9561772028, 1120

9561772029, 1220

9561772030, L1110

Question Number : 6 Question Id : 9561771041 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

let3, a bcbein AP.and 3,a—1,b+1, c+9 be in G.P.

Then, the arithmetic mean of a, band c 1s :

Options:

9561772031, L1

9561772032, 1
13

9561772033.



9561772034, =

Question Number : 6 Question Id : 9561771041 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA 3,ab,c WAL HEAN 3 a-1,b+1,c+9THGP. U &l Ta, b a9 ¢ F TR TAE ;

Options:
9561772031, L1
9561772032.

9561772033, 1+

9561772034.

Question Number : 7 Question Id : 9561771042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- ( 1 i I e
If 5f(x) + 4fL—] =x"—2,Vx # 0 and y=%f(x), then y is strictly increasing in :
x

Options:

9561772035.



1 T
g = ol | il e
55
9561772036.
1 3 1
= T = n U (__ ’ Gﬁ]
U
9561772037.
1 1
0, —=it L] |~ 0
5] [J:? )
9561772038.

Question Number : 7 Question Id : 9561771042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afe 5f(x) + 4f[1] =¥ =2, Va2 0 AU y=0u}(x) &, O o et of y TR oo 22
9

Options :

9561772035.

9561772036.



9561772037.

9561772038.

Question Number : 8 Question Id : 9561771043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let f: R = R be defined as :

a-bcos2x
O

fly=q +cx+2 ; 0<x<1

2+ 1 s 351

If fis continuous everywhere in R and m is the number of points where fis NOT differential then
m+a+b+c equals :

Options :

9561772039.

I~

9561772040.

a3

9561772041.

9561772042.



Question Number : 8 Question Id : 9561771043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A f:R- R,

a-bcos 2x
— x<0

X
f)=q* +cx+2; 0gxsl
2+ 1 s ]

g ot 1 2 R 3 el folg R 0 & o0 9 fegell 1 e, SRR fommrra T e mE, @
m+a+b+c THE :

Options :

9561772039.

I~

9561772040.

9561772041.

9561772042.

Question Number : 9 Question Id : 9561771044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The area enclosed by the curves xy+4y=16 and x+y=6is equal to :

Options:

2830 log,2
9561772043.

30—32 log,2
9561772044.

32-30 log,2
9561772045.

3028 log,2
9561772046.

Question Number : 9 Question Id : 9561771044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T xy+4y =16 T x+y=6 T o & 1 &% €

Options:
28 —30 log,2
9561772043.

30—32 log,2
9561772044.

32-30 log,2
9561772045.

3028 log,2
9561772046.



Question Number : 10 Question Id : 9561771045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

p/

The value of the intergral I — x dx .
| g Sl (2x) + cos (2x)

equals :

Options :
2 w2
9561772047. 16
J2 w2
9561772048, o2
JZ w2
9561772049, O
J2 w2
9561772050, 04

Question Number : 10 Question Id : 9561771045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

1 ; T A T T
sin " (2x) + cos (2x)

A
AR j
]



Options :

V2 w2
0561772047. 16
V2 w2
0561772048, 2
V2 w2
0561772049, O
V2 7t
0561772050, 04

Question Number : 11 Question Id : 9561771046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d |
Let y=1(x) be the solution of the differential equation Ey= 2a(x + y]‘j' -x(x+y) =1, y(0) =1.
2
| 1Y
Then, | — + (—D equals :
70

Options :

1
2 — e

9561772051.

2

1 + e

9561772052.



3

3— e

9561772053.

_ &
4+JE

9561772054.

Question Number : 11 Question Id : 9561771046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

d
T ST YR £ = 2+ y) =2 + y) =1, y(0) =1 FE y=y(x) &1 A

1 (L]Tw%;

+ 1
AW
Options :
1
0561772051, 2 Ve
2
9561772052, L T Ve
3
9561772053, © Ve
4
4 + JE

9561772054.



Question Number : 12 Question Id : 9561771047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For 0 < < /2, if the eccentricity of the hyperbola x>~ ycosec?)=5 is 7 times eccentricity of the
ellipse rcosecd+ y3= 0, then the value of 0 s :

Options :
kil
9561772055. 4
o
9561772056, <
w
9561772057. ©
51

9561772058, 12

Question Number : 12 Question Id : 9561771047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0<0<m/2 % ferg, e aHfeearem 13- ifrcosec’d =5 1 Ikt S99 acosec?f + =5 ) T
# V7 TR D 0FAR:

Options :

9561772055.



el

Kl
9561772056, 9

o
9561772057. ©

S5t

9561772058, 12

Question Number : 13 Question Id : 9561771048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
7]

o 4 . i b .
Let l—? +2 =1a>bbean ellipse, whose eccentricity is 7 and the length of the latusrectum is

{35 )

1)

at b

5

=

s o ;
J14. Then the square of the eccentricity of = - l; =11s:
a® b

Options :

32
9561772059.

3
9561772060.

of2

9561772061.



7/2
9561772062.

Question Number : 13 Question Id : 9561771048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3

waﬁqa%if_jﬂ,a:bﬁmm%%wmfwﬁmﬁm‘ J14%|a*ll'_i-~‘l’_;=1
a 3 L a° R
F1 ke F A

Options:

9561772059.

9561772060.
9561772061.

9561772062.

Question Number : 14 Question Id : 9561771049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

x,xz0
and g(x) = . . Then,

g, x<0

log,x, x>0

et L xsl)

Let f :R—=Rand ¢: R - R be defined as f(x) =l

gof: R =R is:



Options :

9561772063, One-one but not onto
9561772064 onto but not one-one
9561772065 both one-one and onto

9561772066 neither one-one nor onto

Question Number : 14 Question Id : 9561771049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

120
b ﬂn={i l{ﬂ 3 v £

log,x, x>0

=+ x|

§ o -

e, X

T f:R-Rg:R-R, f(1)={
gof:R=R

Options :

| Theh] © W] SATS01C T8 ©

9561772063

ST=STEH © T kel el &

9561772064.

oﬁwﬁwéﬁf%

9561772065

| A 91 TheRT €, 7 B S=SEE ©

9561772066



Question Number : 15 Question Id : 9561771050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let C: 22+ yz=4 and C': 2%+ ylwb\x +9=0 be two circles. If the set of all values of \ so that the
crcles C and C' intersect at two distinct points, is R~ [a, b], then the point (8a+12, 16b-20) lies
on the curve ;

Options :

5x2—y=—11
9561772067.

612 +y2=42
9561772068.

x2—4yr=7
9561772069. :

x>+ 2y%—5x+6y=3
9561772070. : :

Question Number : 15 Question Id : 9561771050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG C: 2+ =4 T C ol 42 -4 +9=0 81 TR\ & oot oWl o fe @ c an 0’ @&
TR & Q fom foigell WAwen € 1 9= R-[a, b] §, T 93 (Ba+ 12, 16b-20) foF T W 37

Options :

5x2—y=—11
9561772067.



6x2 +y2 =42
9561772068.

x2—4y?=7
95617720609.

x>+ 2y% —5x+6y=3
9561772070. : ‘

Question Number : 16 Question Id : 9561771051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the shortest distance between the lines * _2'\ a k™ - i ! and 2~ ‘ﬁ o -21 o 5 :
- 1 1 1 - 1

is 1, then the sum of all possible values of \1s:

Options :

343

9561772071.

9561772072. 0

- 243

9561772073.

243

9561772074.



Question Number : 16 Question Id : 9561771051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e Fh V=2 2 lagx- B y-1_ 2= gdmammatid dF e

-2 1 1 | -2 1

T T A E
Options :

33
9561772071. \/_
9561772072 0

— 24/3
9561772073. \/_

243
9561772074. \/_

Question Number : 17 Question Id : 9561771052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A bag contains 8 balls, whose colours are either white or black. 4 balls are drawn at random
without replacement and it was found that 2 balls are white and other 2 balls are black. The
probability that the bag contains equal number of white and black balls s :

Options :

1

9561772075. 7



| =

9561772076.
2
9561772077, °
2
9561772078, 7

Question Number : 17 Question Id : 9561771052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e S W 8 7 &, Fore ke el €| e e 3 4 e g el S € o 7 v T
fif 2 e ke € ol o1 2 e et €1 9t o e 9 et T} e R 3 R W

Options:
i
9561772075, 7
1
9561772076, °
2
9561772077, 2
2
7

9561772078.



Question Number : 18 Question Id : 9561771053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let the median and the mean deviation about the median of 7 observation 170, 125, 230, 190, 210,

a,bbe 170and 2P respectively. Then the mean deviation about the mean of these 7 observations

7

IS

Options :

9561772079.
9561772080.
9561772081. -

9561772082.

Question Number : 18 Question Id : 9561771053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A 7 U 170, 125, 230, 190, 210, a, b o Wi a9 wiean & Wy e foEen #9170 a9
205 %) @ 717 Yl 1 e 3 e e Foem
7

Options :

28
9561772079. =



9561772080.
9561772081.

9561772082. ~~

Question Number : 19 Question Id : 9561771054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

- AA A=A A A - G A AN R
Let a==5i+ j— 3k, b=1i+2j- 4k and ¢ ={((a X b] xi] X,‘J Xi. Then

E i ACA A
C '(—r' +j -I-ir] is equal to :

Options :

9561772083, — LU
9561772084, — L2
9561772085, — 1O
9561772086, 10

Question Number : 19 Question Id : 9561771054 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
— A M Ao=¥ A A A —+ A A A de
Al a=-5i+j-3k,b=i+2j -4k ¢ = {((: X E] x;] XEJ xi &1 dl

=+ A A A
c{—i+j+k]amﬂ%:

Options :

9561772083, — LU
9561772084, — 12
9561772085, L9
9561772086, L2

Question Number : 20 Question Id : 9561771055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If tan A = ! ,tan B = L and

Va2 + x+1) Vb + x+l

tanC= (53 4 424 x—l}}/?- ,0<A,B,C< % then A +B is equal to :

Options :

9561772087. C



9561772088, "~

9561772089.

9561772090, 2

Question Number : 20 Question Id : 9561771055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ife tan A = : ,tan B = Jx Gl

Ji(:2 + x+1) V' + xtl

tan C=(28 4 + 2y x‘l}%—' ,0<A,B,C< g EMA+BTNRT:

Options :

9561772087, ©

9561772088, T~ C

9561772089, 27 —C
= -C
2

9561772090.



Mathematics Section B

Section Id : 95617763
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20
Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 95617766
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 9561771056 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Let A={12,3,... 20}. Let R; and R, two relation on A such that
R, ={(a, b) : bis divisible by aj
R,={(a, b) : a is an integral multiple of b}.
Then, number of elements in R, — R, is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1



Question Number : 21 Question Id : 9561771056 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HHT A={1,2,3,...,20} €1 HFI A W3 §&Y R, q91 R,,
R,={(a, b): b, a & favra

R,={(a, b) : a, b %1 T JUIkIA T[0T € }.
@ R, —R, H a7erqel 1 H&A e 8 i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 9561771057 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let P=(zeC:lz+ 2= 3i|<1jand Q= {zeC:z1+ i)+ (1-i)<-8}. Letin P] Q,

2=3+2i] be maximum and minimum at z; and z, respectively. If Eiliz + 2i22i3= a+p 2, where

o, B are integers, then o+ equals

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 22 Question Id : 9561771057 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T P=(zeC:lz+ 2-3i|<1) 0 Q=(zeCizl+ )+ 7 (1-)<-8) & TAPNQH
7=342i], 2, T 2, T F: e o e &1 R [z, 24 2 2= B V2, T o, f TR,
T otp WRE |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 9561771058 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

\Iﬁ B
If the Coefficient of 1" in the expansion of [1 . —J (1+ 2 ]f 1= f]s :x# 0 15 o, then |of

X/

equals

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 9561771058 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

6
qﬁ(l t 1] (1+ xﬁ)F i < x3]3 vz 0, o WK 220 1 0 o 8, o Jof AT

X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 9561771059 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of elements in the set

S={(x, 1, 2): %,y zeZ x+2y+3z=42, x,y,z = Ofequals ___
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 9561771059 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=
S={x, 12 :x vy zeZ x+2y+3z=42, x, 1,z 2 (} ¥ eadl & e %__

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 9561771060 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let3,7,11,15,. ., 403 and 25,8, 11, . . , 404 be two arithmetic progressions. Then the sum, of
the common terms in them, is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 9561771060 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

T3, 7,11, 15, ., 403 T4 25, 8, 11, . ., 404 T TR e €1 @ 3 vl wd) o A R
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 26 Question Id : 9561771061 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

cos™ (1- |x|3]5i11_1(1 - {1})
E

,x#0. IfLand

Let {x} denote the fractional part of xand f(x)= -
X - {x

32

R respectively denotes the left hand limit and the right hand limit of f{x) at x =0, then ;2‘ 12+ R?)
is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 9561771061 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
c05_1(1 - {}¥)sin™ (1~ {4))

- o’

TR {x), o FoTech S0 = <0 2 30 f(y) = 1 # 08 AR x=0

3
T flx) T AT Wed 1 70 e A LR E 7 (2 + RY) Tt

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 9561771062 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% 8\/5 cosy dx
(14 %) (14 sin'y)

If

=am+p log, (3+ 2,/2), Where a, B are integers, then a2 +p?

equals

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 9561771062 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A
/2 842 cosx dx

(14 ™) (14 sin'y

=am+plog, (3+242) & W o p T € @ o?+ 7 0N &

eee—|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 28 Question Id : 9561771063 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If x=x(t) is the solution of the differential equation (t +1)dx=(2x+(t+1)*) dt, x(0)=2, then, x(1)
equals

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 9561771063 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e, aFaehel W (4 1)de= Qv+ (t+ 1)) db 2(0) =2 T x=x(f) &, W af) ORE
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 9561771064 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Let the line L: y/2x + y = o pass through the point of the intersection P (in the first quadrant) of
the circle x>+>=3 and the parabola x>=2y. Let the line L touch two circles C, and C, of equal
radius 2\/5. If the centres Q; and Q, of the circles C; and C, lie on the y-axis, then the square of
the area of the triangle PQ,Q, isequalto

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 9561771064 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
AR L: y2v 4 = o, o+ =3 000 WReferd x2= 2y % Wi fog P (3o g2 ) § g
o &1 A T L B 03 R C WG, R A ¢ M C, 0 C, F
Q T1Q, -4 WE, A Fm PQQ F M AT |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 9561771065 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the line of the shortest distance between the lines

Lt ?+2?+3£]”‘(?-?+2]aﬂd
L v o]+l -

intersect L, and L, at P and Q respectively. If («, B, ) is the mid point of the line segment PQ), then
Jatpty)isequalto

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 9561771065 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

picikeG 6

e (? 42 +31?] t ﬁ(? . 2]?1?11
L r=lal 4 ) +0(f 4 5 -
1 T 0 @, L, T L, A PO Q WHRA ¢ A T PQ F HeAfag (o, B, )
M 2atpty) WRE |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Physics Section A

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 31 Question Id : 9561771066 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

95617764
3

Online
Mandatory
20

20

80

Yes

0

1
95617767
Yes

null

The dimensional formula of angular impulse is :

Options:

[M L2 T2
9561772101.



[MLT™ Y

9561772102.

IML.~2T~1
9561772103.

[ML2T 1
9561772104.

Question Number : 31 Question Id : 9561771066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I ST o1 T 93 € ¢

Options:

[M L2 T2
9561772101.

[MLT™ Y
9561772102.

IMT.~2T~4
9561772103.

[ML2T 1]
9561772104.

Question Number : 32 Question Id : 9561771067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Aparticle moving in acircle of radius R with uniform speed takes time T to complete one revolution.
If this particle is projected with the same speed at an angle 0 to the horizontal, the maximum
height attained by it is equal to 4R, The angle of projection 6 is then given by :

Options :

1
| 20T2 |2
cOs 1 [ g ]

TI‘ER
9561772105.

9561772106.

o | TR
sin 5
2gT

9561772107.

1

=1 wR 2
CcOS 5
2gT
9561772108.

Question Number : 32 Question Id : 9561771067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T 91 R F & o 90 T 0 GO T 8 0 R @ 90 O T A T g A e Ak
T O T et 9 A 0 0 VT for ST R 2 £ 9 T Al S AR | T
AT 0§ B ;

Options :



9561772105.

9561772106.

9561772107.

1| wR |2
COS 5
28T
9561772108.

Question Number : 33 Question Id : 9561771068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider a block and Imlle_xF system as shown in Iigure. [f the coefficient of kinetic friction between
the trolley and the surface is .04, the acceleration of the system in ms s :

(Consider that the string is massless and unstretchable and the pulley is also massless and
frictionless) :

kg

L j

O 6kg
60N
Options:
3
95617721009.
9561772110, 12
9561772111. 4
2
9561772112, =

Question Number : 33 Question Id : 9561771068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fer3 % S U T 9 2fch ) e o v | e 2l an e o ot ek s o 0.04 €
feem o e (/A2 ) §

(v forfsrd fo v o fadi e 7 g el & aiie e ot zomm o o ot 2)
Nkg

fye—20 ’

[ 16kg
60N
Options:
3
95617721009.
9561772110, 12
9561772111. 4
2
9561772112, =

Question Number : 34 Question Id : 9561771069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A ball of mass 0.5 kg is attached to a string of length 50 cm. The ball is rotated on a horizontal
arcular path about its vertical axis. The maximum tension that the string can bear is 400 N. The
maximum possible value of angular velocity of the ball in rad/s is, :

Options:

9561772113.



1600

9561772114.

9561772115.

9561772116, 1000

Question Number : 34 Question Id : 9561771069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0.5 TR 2O 1 e g 50 T el W S a7 1 e 1 3 e 9 6 e i
T 94 TR AT S & | S G0 e a6 v e 61l 400 N & | 7 o ahoi am a1 aiferem
g TR (/A ) 2

Options :

9561772113, 1000

9561772114, U

9561772115.

9561772116, LU



Question Number : 35 Question Id : 9561771070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A sunple pendulum of length 1 m has a wooden bob of mass 1kg. It is struck by a bullet of mass
kg moving with a speed of 2%10% ms ™1, The bullet gels embedded info the bob. The height
lo which the bob rises before swinging back is. (use g =10 m/s* )

Options :

9561772117.

9561772118, V-30 m

9561772119.

9561772120, U-40 m

Question Number : 35 Question Id : 9561771070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 ¥t S o T e W 1 o6 2o o A o O e ¢ TR 2 102 WAL et e
102 FT W %1 T el R 29 € 1 el e § 6 S € 1 e A e § e R e
IR (e g=107/%)

Options :

.
9561772117, 0-20 m



9561772118, 0-30 m

9561772119, U-30 m

9561772120, V-4 m

Question Number : 36 Question Id : 9561771071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[f R is the radius of the earth and the acceleration due to gravity on the surface of earth is
g= m2m/s, then the length of the second’s pendulum at a height h = 2R from the surface of earth
will be, :

Options:

2

— 1M
9561772121, 2

4

— M
9561772122, 2

8

— TN
9561772123. 2

i

= TN

9

9561772124.



Question Number : 36 Question Id : 9561771071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e oA &1 B R 9 9980 1 R Tl @ g = o2/82 @ 99 9 70 @ h = 2R I WS
ciler 1 e & -

Options :

9561772121, 2

9561772122, 2

m

O | oo

9561772123.

9561772124.

Question Number : 37 Question Id : 9561771072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

With rise in temperature, the Yuu_ng‘s modulus of val:mtin:it},F :

Options:

9561772125 decreases

9561772126.



mncreases

remains unchanged
9561772127.

changes erratically
9561772128. 1

Question Number : 37 Question Id : 9561771072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
e H g & G I T e
Options :

S
9561772125,

Tl &
9561772126,

| Fqfiafdd war &

9561772127

9561772128. w9 %

Question Number : 38 Question Id : 9561771073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

3

The pressure and volume of an ideal gas are related as PV? = K (Constant). The work done
when the gas is taken from state A (P}, V, Ty to state B (P, V,, T) is :

Options :

2 (P,V, — P,V
9561772129, Gava —F¥y)

2(PyVy —P1yfVy)

9561772130.

2 (P.N; — P35V
9561772131. (F1¥y —Fa)o)

2(yP Vs =P, V)

9561772132.

Question Number : 38 Question Id : 9561771073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

3
T 4R 19 1 A P PV 2 = K (PR gt | A s A, V, T) e
B (P, V,, T,) T o 91 ¥ 3t 97 ¢

Options :

2 (P,V, — P,V
9561772129. G2V —F¥y)

2(P2y/V2 —P1yV1)

9561772130.



2 {Pl‘\l'?i ‘_Pj‘\;j}
9561772131. S

2({PV; =P, V)

9561772132.

Question Number : 39 Question Id : 9561771074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two moles a monoatomic gasis mixed with six moles of a diatomic gas. The molar specific heat of
the mixture at constant volume 1s :

Options :
5
=
9561772133, 2
9
—R.
9561772134, 4
3
=R
9561772135, 2
7
—R
9561772136, 4

Question Number : 39 Question Id : 9561771074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

T TS, 79 3 2 W 1 O (e 9 & 3 W o o e o s 1 Fre ot  frem
1 e fafire 3 €

Options :

9561772133.
9
9561772134, 4
3
9561772135, 2

9561772136.

Question Number : 40 Question Id : 9561771075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two identical capacitors have same capacitance C. One of them is charged to the potential V and
other to the potential 2V. The negative ends of both are connected together. When the positive
ends are also joined together, the decrease in energy of the combined system s :

Options :

loP

9561772137, 2

9561772138.



95617721309.

9561772140.

Question Number : 40 Question Id : 9561771075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR ST % & Gl 1 A T R C 81 S A O AV fooe 7 q g oy fava 7
ofvm o S €1 S o e i ) U WY e fo o 1 S e i e el o
 efor v ot ol A B

Options:

12
9561772137, 2

9561772138.

95617721309.

9561772140.



Question Number : 41 Question Id : 9561771076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The reading in the ideal voltmeter (V) shown in the given circuit diagram is :

0.20 0.2 0.2Q

<!

5V 5V 5V

5V=0.20
024} =B (V)

0.2Q 0.2Q 0.2Q
S
5V 5V 5V

Options :

9561772141.

9561772142.

9561772143.

! T
9561772144, 1OV

Question Number : 41 Question Id : 9561771076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fe&r 131 uftay 9, eyreyt dreedex (V) § UrewiE ¥
0.20 020 0.20

| | | |
I II II
5V 5V 5V

SV=0.20
0.20) == 5V GD

0.2} 0.2Q 0.20Q
- — ||
5V. 5V 5V

Options:

9561772141.

9561772142.

9561772143. oV

9561772144, 1OV

Question Number : 42 Question Id : 9561771077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A galvammel'er has a resistance of 50 () and it allows maximum current of 5 mA. [t can be
converted into voltmeter to measure upto 100V b}f cmmecl‘ing in series a resistor of resistance :

Options:

9561772145, 19990 {2



9561772146, 12200 (1

9561772147, °

9561772148, 20050 {2

Question Number : 42 Question Id : 9561771077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e SRTETE <61 e 50 ) & 0 5 mA ) cHfereram o o1 SR o €1 30 fo e o A
i SireaR 100 V T % T ¥ areer 8 aee o T ¢/

Options:

9561772145, 12,990 0

9561772146, 12,200 {2

9561772147, °

9561772148, 20050 {2

Question Number : 43 Question Id : 9561771078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In series LCR circuit, the capacitance is changed from C to 4C. To keep the resonance frequency
unchanged, the new inductance should be :

Options:

9561772149, increased to 4L

increased by 2L
9561772150. E

1.
reduced by 1 L
9561772151.

3
reduced b}r E L
9561772152.

Question Number : 43 Question Id : 9561771078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T Anfierg LCR ofwg # onftdl 1 C 9 4C 7 9e fem 1 &1 7 S 97 T o e 1
Ut B e ;

Options :

9561772149. e qﬁg

2L, [
9561772150. sl

1
9561772151, 4

L BRI &Y



3
9561772152, 4

L BRI &Y

Question Number : 44 Question Id : 9561771079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A parallel plate capacitor has a capacitance C = 200 pF. It is connected to 230 V ac supply with an
angular frequency 300 rad/s. The rms value of conduction current in the circuit and displacement
current in the capacitor respectively are :

Options:

13.8 A and 13.8 pA
9561772153.

1.38 pA and 1.38 pA
9561772154,

14.3 pA and 143 pA
9561772155.

13.8 wA and 138 pA
9561772156.

Question Number : 44 Question Id : 9561771079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T TR e Ferfet it i C=200 pE ®1 7% 300 Y/ & v s 3 w9 230 V o Fewad
B0 4 99 1 e ¥ Hafor ST o SO e o v S ¥ forwe o e €

Options:

13.8 pA 3R 138 pA
9561772153.

1.38 pA 3 138 pA
9561772154,

14.3 pA 3R 143 pA
9561772155.

13.8 pA 3R 138 pA
9561772156.

Question Number : 45 Question Id : 9561771080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A monochromatic hght of waueleng th 60004 is incident on the single slit of width 0.01 mm. [f the
diffraction pattern is formed at the focus of the convex lens of focal lenglh 20 cm, the linear width
of the central maximum is ;

Options:

.
9561772157, L& mm

9561772158, 24 mm

9561772159, 120 mm



9561772160, OV mm

Question Number : 45 Question Id : 9561771080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

6000A TG 61 T el ST (.01 e =Tt e foll W et 2 €1 e foee e 20 40
HIEE T o 3T ¢ o PIeRY T A €, i 3 o e W ¢

Options :

12 foeL,

9561772157.

24 T,

9561772158.

120 oL

9561772159.

60 T,

9561772160.

Question Number : 46 Question Id : 9561771081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The de Broglie wavelengths of a proton and an « particle are \ and 2\ respectively. The ratio of

the velocities of proton and « particle will be :

Options :

9561772161.



4 -

[

9561772162.

s

[

9561772163.

1-2
9561772164. ~ * <

Question Number : 46 Question Id : 9561771081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
T e 9 W oV 1 S-aFTei] G0ieed J0: \ 9 20 § 1 e 9 -3 3 ol o1 S B

Options :

9561772161.

9561772162.

9561772163.

9561772164.

Question Number : 47 Question Id : 9561771082 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The minimum energy required by a hydrogen atom in ground state to emit radiation in Balmer
series 1s nearly :

Options :

9561772165, 120 eV

9561772166, 1 €V

] AT
9561772167, 121 eV

9561772168, 17 €V

Question Number : 47 Question Id : 9561771082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e e § A U e WA gr shw o fafor 3w e % fo e 2 e
AT E :

Options :

9561772165, 10:0 eV

9561772166, 12 €V

2 =47
9561772167, 121 eV



9561772168, 12 €V

Question Number : 48 Question Id : 9561771083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the given circuit if the power rating of Zener diode is 10 mW, the value of series resistance R, to
regulate the mput unregulated supply is :

RS
il \/\N‘
L)
Vs Vz=5v T8 ng 10
i 8V
Options:

9561772169, 10 k)

9561772170, 1 k{1

9561772171, 10 £

9561772172, 0 k{l

Question Number : 48 Question Id : 9561771083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

9561772169, 10k £}
9561772170, 1k {1
9561772171, 10 £

9561772172, ok {1

Question Number : 49 Question Id : 9561771084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 divisions on the main scale of a Vernier calliper coincide with 11 divisions on the Vernier scale.
[f each division on the main scale is of 5 units, the least count of the instrument is :

Options:

i
9561772173, 2

9561772174.



10
9561772175, 11

50
9561772176, 11

Question Number : 49 Question Id : 9561771084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TR e o TR & 10 T 1 99 9 T % 11 3 F S el 4 e T
e G 5 TS o WO 2 o 4 I STeq ¢

Options:

1

9561772173, 2

9561772174, 11

10
9561772175, 11

50
9561772176, 11



Question Number : 50 Question Id : 9561771085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The radius (r), length (/) and resistance (R) of a metal wite was measured in the laboratory as
r=(0.35+0.05) cm

R=(100+10) ohm

[=(15%0.2) cm

The percentage error in resistivity of the material of the wire is :

Options :

9561772177, 22-9%
9561772178, 22-6%
9561772179, /3%
9561772180. 35.6%

Question Number : 50 Question Id : 9561771085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSI W oI o R B (r), O (1) 9 W (R) A e v o g,
t=(0.35+0.05) cm

R=(100+10) ohm

[=(15%0.2) cm

T 35l 7 S o 2



Options :

9561772177. 39.9%
9561772178, 22-6%
9561772179, 2737
9561772180. 35.6%

Physics Section B
SectionId: 95617765
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 95617768
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 9561771086 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A particle is moving in one dimension (along x axis) under the action of a variable force. It's initial
position was 16 m right of origin. The variation of its position (x) with time (t) is given as
x= =36+ 18+ 16t, where x is in m and tis ins. The velocity of the particle when its acceleration
becomes zero is m/s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 51 Question Id : 9561771086 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
e 3 U Yl o o e et (x ohef o afe) e A T ) e s feae o g

A efedt &R 16 W ot | T 3 W o) feurf ot e TR fol T = 30+ 182+ 16t T
(v) e H o () SRS HE FWA W W/

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 9561771087 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The identical spheres each of mass 2M are placed at the corners of a right angled triangle with
mutually perpendicular sides equal to 4 m each. Taking point of intersection of these two sides as

origin, the magnitude of position vector of the centre of mass of the system is —, where the
' i

value of x is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 9561771087 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
OM ZERT 3 T W) ] T s 4 T, 1 e e ool 3T T qeen Fe & v w
W2

Y

Feor | 2 ST A o et i e foeg 1 e ke o o ofes; o6 ferf et 1 ey
¢, T 1 F A

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 53 Question Id : 9561771088 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

A plane is in level flight at constant speed and each of its two wings has an area of 40 m? If the
speed of the air is 180 km/h over the lower wing surface and 252 km/h over the upper wing
surface, the mass of the plane is kg. (Take air density to be 1 kg m™? and g=10ms" )
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 53 Question Id : 9561771088 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T AT 7 0 T 9Ee i ¢ Ul 36k 3 G 1 e 40 W €1 7 Pt T oA o
71 180 ot/ o, 7en S v e R A 0 e 252 fepet /o @ 6 7 o g el
(afe o 1 @ 1 ok /o3 qen =10 W1/8-2)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 9561771089 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A tuning fork resonates with a sonometer wire of length 1 m stretched with a tension of 6 N.
When the tension i the wire is changed to 54 N, the same tuning fork pmduces 12 beats per
second with it, The frequency of the tuning fork is ____Hz

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 9561771089 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
& @r 1 T o T SR O & WY T € o 6 N F 76 o T fe gl s an

718 1 54 N 3 fea1 1 & 3 W Tt 3 4 12 o o 9 3 e €| Wi # et
_Hz%l

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 9561771090 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two identical charged spheres are suspended by strings of equal lengths. The sirings make an
angle 0 with each other. When suspended in water the angle remains the same. If density of the
material of the sphere is 15 g/cc, the dielectric constant of water will be __ (Take density
of water=1g/cc)

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 9561771090 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
) U O AT TIch SRR s o S % e & | SR o 6 W 0 0 A €| 9 o

T 2, @ AW T E A T F T H A 15 g/ec 3 A T R W
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Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 9561771091 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The current in a conductor is expressed as [ =532 +4t3, where [is in Ampere and tis in second. The
amount of electric charge that flows tlu‘augh a section of the conductor during t=1stot=2s is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 9561771091 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

T e ¥ Weted 9 1=30+ 40 8, 5l | O d oo ¢ W82 W 81 t=1 9 t=2 9 % W T &
TR B T o S S F A CRI

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 9561771092 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
A regular polygon of 6 sides is formed by bending a wire of length 4w meter. If an electric current

of 417\/5 A s flowing through the sides of the polygon, the magnetic field at the centre of the
polygon would be xX 107 T, The value of xis



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 9561771092 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id : 9561771093 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arectangular loop of sides 12 cm and 5 cm, withits sides parallel to the x-axis and y-axis respectively,
moves with a velocity of 5 cm/s in the positive x axis direction, in a space containing a variable
magnetic field in the positive z direction. The field has a gradient of 1073T/em along the negative
x direction and it is decreasing with time at the rate of 103 T/s. If the resistance of the loop i
6 m(), the power dissipated by the loop as heat is x10~7W.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id : 9561771093 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

12 3t 5 5 W S[eNeH 1 O SRR o, TR S L v O 9y 9 IR €, 2 9
I T o O YR e & A ST W xS o Sfen 5 WE/8 o o § T 7 o
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 9561771094 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The distance between object and its 3 times magnified virtual image as produced by a convex lens
i5 20 cm. The focal length of the lens used is cm.

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 9561771094 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 60 Question Id : 9561771095 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The radius of a nucleus of mass number 64 1s 4.8 fermi. Then the mass number of another nucleus

. , .. 1000 .
having radius of 4 fermi is — , where x is _
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 60 Question Id : 9561771095 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1000 ¢
e — l

X
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Chemistry Section A

SectionId: 95617766
Section Number : 5
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Clear Response: Yes
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Sub-Section Id : 95617769
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 61 Question Id : 9561771096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

According to the wave-particle duality of matter by de-Broglie, which of the following graph plot
presents most appropriate relationship between wavelength of electron(\) and momentum of
electron (p) ?

Options :
A
P—>
9561772191.
A
P —
9561772192.
A
/p =

9561772193.



9561772194.

Question Number : 61 Question Id : 9561771096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fe-gmett % vl 3 - §TG % SR, Fet § R - T, i e ()) o e
T (p) o T R o, H U @1 § o A 7

Options:
A
P—>
9561772191.
A
P —
9561772192.

9561772193.



1/p —>

9561772194.

Question Number : 62 Question Id : 9561771097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the bonds in order of increasing ionic character in the molecules. LiF, K,0, N,, SO, and

ClR.,:

J

Options :

< p
osg1779195. g =iy € CIH, <10 <K

N, < ClF; < 50, < K,0 < LiF
9561772196, = : & =

ClF,; < N, < 50, < K,0O < LiF
9561772197. : 2 = =



LiF < K,0O < CIF; <50, <N,
9561772198. 2 : & &

Question Number : 62 Question Id : 9561771097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
LiF, K,0, N,, SO, T CIF, $103if  Saril i 3% sa omafie: ciem o SR ool & ;

Options :

N, < S0, < ClF; < K,0 < LiF
9561772195.  ~ i ; =

N, < ClF; < 50, < K,0O < LiF
9561772196. ~ : = =

ClF,; < N, < 50, < K,0O < LiF
9561772197. : Z = 2

LiF < K,0O < CIF; <50, <N,
9561772198. 2 : & &

Question Number : 63 Question Id : 9561771098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for free expansion of an ideal gas under adiabatic condition from the
following :

Options :

q=0, AT #0, w=0
9561772199.



q# 0, AT = 0, w=0
9561772200.

q= 0.AT = 0. w=0
9561772201.

q= 0, AT<0, w# 0
9561772202.

Question Number : 63 Question Id : 9561771098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
TG o W forel Seyl 79 o o Tele (T et el ooy w9
Options :

q=0, AT #0, w=0
9561772199.

q# 0, AT = 0, w=0
9561772200.

q= 0.AT = 0. w=0
9561772201.

q= 0, AT<0, w# 0
9561772202.

Question Number : 64 Question Id : 9561771099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

We have three aqueous solutions of NaCl labelled as ‘A’, ‘B and ‘C’ with concentration 0.1 M,
0.01 M and 0.001 M, respectively. The value of van ‘t Hoff factor(i) for these solutions will be in

the order :

Options :

o A
9561772203. + B C

e i el |
9561772204, & B g

9561772205.

i e
0561772206, A C B

Question Number : 64 Question Id : 9561771099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T T NaCl % T e foerem € o /A, ‘B W C’ g ctet fean T &, ot vy g
0:1M, 0.01M 71 0.001 M 1 3 forcrarl % e o= 2 ek (j) 1 3% &

Options :

P |

% 1
9561772203. + B C

1y > 1g> Ic

9561772204.

9561772205.



Vi, % 1%
9561772206. & c B

Question Number : 65 Question Id : 9561771100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In case of isoelectronic species the size of F~, Ne and Na™ is affected by :

Options :

Principal quantum number (n)
9561772207.

Nuclear charge (z)
9561772208. :

9561772200. Electron-electron interaction in the outer orbitals

9561772210. None of the factors because their size is the same

Question Number : 65 Question Id : 9561771100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qH Seieheieh TA9ist F~, Ne Td Na* o SR gIfad &1d & :

Options:

9561772207, @ TEA (n) &K1



AT S (2) g

9561772208.
Fehl H SoidRi-3eTae 3T T
9561772209, @ T AT H g FeraR TR g
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9561772210. ST W 9 T el ik 37 Fay R FHE € |

Question Number : 66 Question Id : 9561771101 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : PH, has lower boiling point than NH,,

Reason (R):  In liquid state NH, molecules are associated through vander Waal's forces, but
PH, molecules are associated through hydrogen bonding,

In the light of the above statements, choose the most appropriate answer from the options given
below :

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
9561772211.

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
9561772212.

(A) is correct but (R) is not correct
9561772213.



(A) is not correct but (R) is correct
9561772214.

Question Number : 66 Question Id : 9561771101 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T o feu U e O A AR (A) T R H FW (R) T TE

HUFYT (A): PH, 1 FH NH, § 7 2|

FON(R): 59 @ W NH, % o aiet s ool g 9 N € 9l PH, F 4 Tgen
S g 7 &

JEH T 3 Hed A few o e A G W SR

Options:

(A) TS (R) S Tl € a1 (A) FI el == (R)

9561772211. ()

2) (A) TS (R) SHI T € AAfFT (A) T Tl =0 (R) T ¢

9561772212.

(A) Tl & @ (R) Toid & |

9561772213. (3)

(A) TTETd € ©IfeRA (R) TR 2

9561772214. (4)

Question Number : 67 Question Id : 9561771102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In acidic medium, K.,CrzOF shows oxidising action as represented in the half reaction :
Cr,07 + XH* + Ye® - 2A + ZH,0

X,Y, Z and A are respectively are :
Options:

8, 6, 4 and Cr,0O,
9561772215. LS

1 34+
9561772216, 14 7, 6 and C

1. 34+
9561772217. 14 0, 7 and Ci

8,4, 6 and Cr,O,
9561772218. il

Question Number : 67 Question Id : 9561771102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et 1AM H K, Cr,O., AR 1 fF gefifa s & S o e o fefua @
Cr, 02"+ XH* + Ye 5 2A + ZH,0X, Y, Z T A & %W

Options:
8 6,4 Td Cr,0O
9561772215. s
14,7, 6 T Cr3+
9561772216. W K

: [ 34
9561772217, 126, 7 T Cx



9561772218. 84,6 W3 CrC,

Question Number : 68 Question Id : 9561771103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the [ullnwmg reactions are dispmpm‘t’mual‘inn reactions ?

(A) Cut - Cu2*+Cu

(B) 3MnO; +4H" —— 2MnO, + MnO, + 2H,0
(C) 2KMnOy —— K>MnOy4 + MnO, + O,

(D) 2MnO; +3Mn”* + 2H,0 —— 5MnO, + 4H"
Choose the correct answer from the options given below :
Options:

(A) @)

9561772219

(A), (B), (O

9561772220

9561772221. ®). (). ©)

(A), (D)
9561772222.

Question Number : 68 Question Id : 9561771103 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
1 o § FA-gt arfafsrand sramree sifufsan € 2
{4y Cut s Gt +ai
(B) 3MnO; +4H' —— 2MnO; + MnO, + 2H,0

(©) 2KMnOy —— KyMnOy4 + MnO; + O,

D 10, +3Mn~" + 2 —_ ) +
(D) 2MnOj +3Mn** + 2H,0 5MnO, + 4H"
< fou U fawedi # ¥ e 39 T ¢

Options :

\), (B
9561772219. (4, (B)

(A), (B), (©)

9561772220

9561772221. (B). (©), (D)

(A), (D)
9561772222,

Question Number : 69 Question Id : 9561771104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement (I) : A solution of [Ni(H,0),J** is green in colour.
Statement (II) : A solution of [Ni(CN) 4]2‘ is colourless.

In the light of the above statements, choose the most appropriate answer from the options given
below

Options :

9561772223, Both Statement I and Statement Il are correct

9561772224, Both Statement I and Statement Il are incorrect

9561772225, Statement I is correct but Statement Il is incorrect

9561772226. Statement I is incorrect but Statement Il is correct

Question Number : 69 Question Id : 9561771104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 g YA e e €

FUT (1) [Ni(H,0) >+ = forera &2 71 1 &l 2|

YA (I0) : [Ni(CN), >~ 1 ferema T7e 8a 2 |

S Fer % wef # A9 feu e forpedt & & waifss SR SR

Options :

9561772223. (1) S O 1 TS R 11 98 € |

9561772224, ) S e 1 T e 11 7o ¢



9561772225, (3) YA I WEl ¥ T THU 11 Tord ¥ |

0561772206, 3} Tt LK ¢ W R I Tl T

Question Number : 70 Question Id : 9561771105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Which of the ff}]ls::swing cctsmplex s homnleplic ?

Options :

Co(NH,},CL,]T
0561772227, FooiEL) L]

[Ni(NH;),Cl]
9561772228.

Fe(NH,),Cl,]™
9561772229.I (NH3),Cl|

[Ni(CN),]?>~
9561772230.

Question Number : 70 Question Id : 9561771105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



et § 9 & T Y S 2
Options:

Co(NH.).Cl.1T
9561772227, [CoNEy) L]

[Ni(NHz),Cly]
9561772228,

Fe(NH,),Cl,1*
9561772229, [Fe(NH,) Cly]

[Ni(CN),J2~
9561772230.

Question Number : 71 Question Id : 9561771106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In Kjeldahl's method for estimation of nitrogen, CUS{:}4 acts as :
Options:

oxidising agent
9561772231. '

reduci_ng agent
9561772232.

catalvtc agent
9561772233. =

l‘l"ﬁdl‘Dl}’SiS agent
9561772234. 2



Question Number : 71 Question Id : 9561771106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS & HIEATHS favetwr H, CuSO, % il @

Options :

HIFHHHRE =h1
9561772231.

HIHAsh bl
9561772232.

ER CCT

9561772233.

Sl HATHET Rk <Rl
9561772234.

Question Number : 72 Question Id : 9561771107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement (I) : Aminobenzene and aniline are same organic compounds.

Statement (II) : Aminobenzene and aniline are different organic compounds.

In the light of the above statements, choose the most appropriate answer from the options given
below :

Options :

9561772235, Both Statement I and Statement Il are correct



9561772236. Both Statement I and Statement Il are mcorrect

9561772237, Statement I is correct but Statement 1l is incorrect

9561772238, Statement 1 is incorrect but Statement Il is correct

Question Number : 72 Question Id : 9561771107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

el 51 e feu T €

B (1) : iR e bfei T e A E

T () : AR o e fir e A €

SR el & gl H, A fou o foeedi & weifer SR SO

Options :

9561772235, (1) S ST 1 Td Sher 11 98 ¥

9561772236. (2) S SR 1 Ud SR 11 7o € |

o561772237. ) A el 8 T AT 11 e T

0561772238, B BT LITEK € T e 1 T2 B



Question Number : 73 Question Id : 9561771108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ionic reactions with organic compounds proceed through :
(A) homolytic bond cleavage

(B) heterolytic bond cleavage

(C) free radical formation

(D) primary free radical

(E) secondary free radical

Choose the correct answer from the options given below :

Options :

(A) only
95617722309.

(B) only
9561772240. :

(C) only
9561772241. -

(D) and (E) only
9561772242.

Question Number : 73 Question Id : 9561771108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



FTafTeR AT o WY i AffHan 1 Jed €
(A) FHY faea g1

(B) Touwmiy fage g

(C) ¥ Ha T g

(D) WTHF T ok G

(E) fgdiaeh qa Hoik g

= feu o fasedi § ¥ 9 ST g ¢

Options :

Fad (A)

9561772239

Felel (B)

9561772240

Fad (C)

9561772241

_ ¥ad (D) W (E)

9561772242

Question Number : 74 Question Id : 9561771109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Haloalkanes react with KCN to form alkyl cyanides as a main product while
with AgCN form isocyanide as the main product.

Reason (R): ~ KCN and AgCN both are highly ionic compounds,

In the light of the above statements, choose the most appropriate answer from the options given
below



Options :

9561772243.

9561772244.

9561772245.

9561772246.

Both (A) and (R) are correct and (R) is the correct explanation of (A)

Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(A) is correct but (R) is not correct

(A) is not correct but (R) is correct

Question Number : 74 Question Id : 9561771109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T o feu T E | B RO (A) 7 TR H O (R) T E
AfWeRe (A) : T KON & 919 Sfvieal 9% &4 3 & &9 ¥ Uehel WETes o &

Tth AgCN o |1 & TG o T H SEEHERS a7 ¢ |
FOR): KON W@ AgCN S & sieafors amafee A1 €1
I R o He , A fou T feemedi # W W@ IR
Options :

9561772243. (1)

9561772244. (2

9561772245. (3)

(A) TS (R) S Wl € a1 (A) 1 Hel =1 (R)

(A) TS (R) SHI Tl € TA (A) T Tel =T (R) T8l ¢

(A) TE € THA (R) Tod B |



(A) TTETT € THIA (R) &I 2

9561772246. (4)

Question Number : 75 Question Id : 9561771110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify A and B in the following sequence of reaction

5 ayw , HO 3
373 K

Options:

CH,CI CHO
9561772247.

COdl CHO

A O/ g O/

9561772248.

CHCl, CHO
9561772249.

CHCl, COOH

9561772250.



Question Number : 75 Question Id : 9561771110 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sAfaferanesi & 9 FI H A U9 B 1 989 ¢
CH s
3 Cly/ht A HO i
373 K

Options :

CH,Cl CHO
9561772247.

COCl CHO
9561772248.

CHCl, CHO
9561772249.

CHCl, COOH
9561772250.

Question Number : 76 Question Id : 9561771111 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List - I with List - IL.

List - 1 List- 11
(Reactions) (Reagents)
(A)  CH;(CHy)s~ (Ijl -0GH; — CH;(CH,)sCHO () CH,MgBr, H,O
0
(B) CH;COCH; - CH.CH,CH, () Zn(Hg) and conc. HCI
(@ CHsCHO —» C,H:.CH(OH)CH, (I) NaBH, H*

(D) CH,COCH,COOC,H; -» CH,C(OH)CH,COOC,H,  (IV) DIBALH, H,0

|
H

Choose the correct answer from the options given below :

Options :

9561772251, (A}, (BIIV), (Cr{l), (D))

0617795y V), (B, (C)-(D), (D)-(II])

056177995 AV ABRIT (T, (D)

9561772254 (A)-(I), (B)-(1V), (C)-(D), (D))

Question Number : 76 Question Id : 9561771111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gt - 1 1 e el - A R

T - 1 T - 11
( axfufsmamd ) ( wfverien )
(A] CH?,(CH?_]5 —(|i —OC2H5 — CHq(CH2)5CHO {D CHaMgBl‘, HEO
0
(B) CHCOCH; - CH.CH,CH; () Zn(Hg) #N % HCl
(C) CHLCHO - C,H.CH(OH)CH, (I NaBH,, H*
(D) CH,COCH,COOC,H; - CH,C(OH)CH,COOC,H,  (IV) DIBAL-H, H0
|
H
el feu o fosred # 4 W S
Options:

0561779951 PEAIN (BEIVACET, (D)

9561772252. (AHIV), (B)-(ID), (C)-(), (D))

9561772253, (AHIV), (B)(ID), (OHII), (D)-(0)

9561772254 (A, (B)-(1V), (CO-(D), (D)-ID)

Question Number : 77 Question Id : 9561771112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement (I) :  The NH, group in Aniline is ortho and para directing and a powerful activating
group.

Statement (II) : Aniline does not undergo Friedel-Craft’s reaction (alkylation and acylation).

In the light of the above statements, choose the most appropriate answer from the options given
below

Options:

9561772255, Both Statement I and Statement Il are correct

9561772256, Both Statement I and Statement Il are incorrect

9561772257 Statement I is correct but Statement Il is incorrect

9561772258, Statement I is incorrect but Statement Il is correct

Question Number : 77 Question Id : 9561771112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%@IWWW%‘:

FO (1) : U W NH, 79 one v T e § qon ok gemeed fevt @ 8
FOR (1) : et rea-wre sfufran (Yfeemaie v Yfaerem) T < &
I FRI o HeH H, F fou e forredi # | Haifeer 3wge I ;

Options :

9561772255. (1) S O 1 TS R 11 98 € |



9561772056, (&) Sl e 1 TS AT 11 Teid T

9561772057, ) AT Tel & Uiq R I Ted ¢

9561772258. (4) YT I TTeTd § W HAT I el €

Question Number : 78 Question Id : 9561771113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following compound will most easily be attacked by an electrophile ?

Options :
9561772259. O
Cl
9561772260. O/
OH
9561772261. O/

CHj

&

9561772262.



Question Number : 78 Question Id : 9561771113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fe o @ form AT W W ST § foRel SoieR™ WE gr amsRn o s 2

Options :

9561772259.

Cl
9561772260. O/
OH
9561772261. O/

: _CHj

Question Number : 79 Question Id : 9561771114 Question Type : MCQ Option Shuffling : Yes Is

9561772262

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If one strand of a DNA has the sequence ATGCTTCA, sequence of the bases in cnmplemenlar}f
strand 1s :

Options :

9561772263, 1ACGAAGT

9561772264, ATGCGACT

9561772265, CITACTTAC

9561772266, AT TAGCT

Question Number : 79 Question Id : 9561771114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7fe DNA & T 5% (%) W H% ATGCTTCA & T 30 T T/ R 4! %1 59 8 7
Options:

9561772263, 1ACGAAGT

9561772264, ATGCGACT

9561772265, CTACTTAC

9561772266, AT TAGCT



Question Number : 80 Question Id : 9561771115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement (I) : Potassium hydrogen phthalateisa primary standard for standardisation of sodium
hydroxide solution.

Statement (II) : In this titration phenolphthalein can be used as indicator.

In the light of the above statements, choose the most appropriate answer from the options given
below :

Options :

9561772267, Both Statement I and Statement Il are correct

9561772268 Both Statement I and Statement Il are incorrect

9561772269. Statement I is correct but Statement 1l is incorrect

9561772270. Statement I is incorrect but Statement Il is correct

Question Number : 80 Question Id : 9561771115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TﬁﬁﬁWfﬂT{Q%‘:
O (1) : e TSRS foem & T o for efmm aegen 9oe #1 v naiE e
& 9 Y 37N fern e £

TR (I1) : T8 T Frawicd &1 ST fd 1 9 2
e o o Hew W, el feu T foere o & waifier <vge SR



Options :

9561772267.

9561772268.

95617722609. (3)

9561772270. *)

(1) ZF 9T 1 Td YT 11 98l 2 |

(2) T UM 1 Td hUA 11 7o € |

HYT | Fel § W HYT 11 ToAd 2

HYT [ T © T T 11 Fel ¢

Chemistry Section B

SectionId:

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

95617767
6

Online
Mandatory
10

5

20

Yes

0

1
95617770
Yes

null



Question Number : 81 Question Id : 9561771116 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following reaction :

3PbCl, +2(NH,),PO, = Pby(PO,), + 6NH,C]

1 72 mmol of PbCl, is mixed with 50 mmol of (NH,),PO,, then the amount of Pb,(PO,), formed is
_mmol (nearest integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 81 Question Id : 9561771116 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
feeet anfifiren 0 forame ¢
3PbCl, +2(NH,),PO, = Pby(PO,), +6NH,Cl
3% PbCL, % 72 mmol # (NH,),PO, % 50 m mol % w14 fife feran s & 1 f4ffa P, PO, ), %1 7o
M mmol (Freemm ‘{UUEF w)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1



Question Number : 82 Question Id : 9561771117 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of molecules/ion/s having trigonal bipyramidal shape is
PF;, Brf;, PCl,, [Pt Cl4]3‘, BE,, Fe(CO);

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 9561771117 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
PF;, BrFg, PCl, [Pt Cl4]2_, BF,, Fe(CO);
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 9561771118 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



K, for CH,COOH is 1.8% 10 5 and Ky, for NH,OH is 18 x10~ > The pH of ammonium acetate

soluion will be

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 9561771118 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

CH,COOH % feft Ka 18x 103 71 NH,OH % fef K, 18x107° &1 Sifem Wiee e a1
pH Fll R

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 9561771119 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The lowest oxidation number of an atom in a compound A,B is 2. The number of electrons in its
valence shellis

Response Type : Numeric

Evaluation Required For SA: Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 9561771119 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T AT A B Folt O] o1 Fvem el e -2 €1 SR I i H e # wen
g |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 9561771120 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The potential for the given half cell at 298 K is (—) X102V,

< =
2H ) +2" — Hylg)

[H*]=1M, Py =2 atm

(Given : 2.303RT/F =0.06 V, log2=0.3)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 9561771120 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fou T el g w1 298 K W fava ® (—) x 102V,

ZH{:[q} +2¢~ —— Hj(g)

[HT]=1M P]_h=2 atm
(fe=m T '.;.SE}?ERT/F=B.G[1 V), log2 =0.3)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 86 Question Id : 9561771121 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
14C
The ratio of R in a piece of wood i g part that of atmosphere. [f half life of ™Cis 5730 years,

the age of wood sample is years.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 86 Question Id : 9561771121 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

14
T o T The W % o1 AR, AT 31 e o % 9 AR A U A e 5730 7 T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 87 Question Id : 9561771122 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following oxides of p—b.lock elements, number of oxides having amphol‘eric nature 18

(1,0,, €O, PbO,, N,O, NO, AL©, Si0,, N,0;, 510,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 87 Question Id : 9561771122 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

o~ el 3 e o) W vl ot o aited ) e ¥ ,
CL,0,, CO, PbO,, N,O, NO, Al,0,, 5i0,, N5Os, 5n0O,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 88 Question Id : 9561771123 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Total number of dvaclivaling groups in aromatic electrophilic substitution reaction among the
following is _

0 0

JLOCH3 , —'\IJKCH _N/CHS il +

i 3 t !
H H

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 88 Question Id : 9561771123 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fire o A e ToRm v aifufred § S oE i gm e

0 0
)LOCHg ’ —NJLCHE, ; _I?V,CH.%
H H

+ =C=N “OCH3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 89 Question Id : 9561771124 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Number of optical isomers possible for 2-chlorobutane
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1



Question Number : 89 Question Id : 9561771124 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

2-FARegeA F foru foe yerfver 9 9§ 9 queee Ta €
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 90 Question Id : 9561771125 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of white coloured salts, among the following is _ :
(a) Sr50, (b) Mg(NH,)PO, (c¢) BaCrO, (d) Mn(OH),
(e) PbSO, () PbCrO, (g) Agbr (h) Pbl,

(i) CaC,O; (j) [Fe(OH),(CH,COO)]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 90 Question Id : 9561771125 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

et 5 | T T & wavl H G € |
(a) S50, (b)) Mg(NH)PO, (c) BaCrO, (d) Mn(OH),
() PbSO, (f) PbCrO, (@) AgBr  (h) Pbl,

() CaC,0, () [Fe(OH),(CH,COO)]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



